Chem sy 3311-100
Organic Chemistry/Dr, Barney Ellizon
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L. {10 prs) Consider the heat of combustion of bicyclo[l.1.0] hexane and ayelehexene,
Which will have the large heat of combustion™ Why? Which isomer is more stahle?
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2 (10 pts) Which of these sterecisomeric 1. 3, 5 mimethylcyclohexanesis more stable?
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3 (20 pts) Carry out the follewing transtormations. Usc any reagents you like,

b)

d)




4 ' 22097

4, {1U pts) What is the mechanism of this reaction? £ { .
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5. (20 pts) Consider .mcrac C:Hia. ldentify the isomer that yields.

2l Calliz 1 Cdy + By — a single monochlonde
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b) CsH); + (43 + hw —2 three isomeric moncchlorides : .
e} CeHya + Cfs + by =+ four isomeric moncchion des
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d}  GH + 04 - v — o isomeric dichleride
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& (12 pts} When the following bremide are subjected te elimination. you find only one
praduct. Why? What is the nechanism oof gfie reacti nn®
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FA20 ple) What 15 the mechamsn the tollowing reactions?
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